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1) A B C started a business by investing RS
120000 RS 135000 and Rs 150000 respectively
find the share of each out of an annual income is
Rs 56700

D A FadweN RS 120000 RS 135000 HS) de
150000 P33 ST w03 FBHITBI)
D9 00DITD. TedeB B8weddBY T 56700.
3080 F30D DU BOBDHLBO,

2) A started a business by investing Rs 45000.
After 3 months B joined with him with the
capital of Rs 60000. After another 6 months C
joined with them with the capital of Rs 90000.at
the end of the year they made a profit RS 16500
find the share of each?

@ 45000 dp BREEB SreBE BV SBHTBY)
©9,800ABTD. 3 oY J03T D “BTRodR Te
60000 20BTIVSRY FedBR0BD. |0 6
3ony <Sod83 d  e3Beodrt  de 90000
WOBDYHERODT  JedBROBD.  SweroS B
3D de 16500 &2 ALITD. &,38030033

m@d& BoD&BANO

3) A B and C start a business each investing Rs
20000.After 5 months a withdrew RS 5000, B
withdrew Rs 4000 and C invest Rs 6000 more at

the end of the year a total profit of Rs 69900. find
the share of each

QD DD J Bue de 20000 BeBS BT
SBHIOIY, @T0WZT. 5 Sorty? I033 T
5000 &o3riddeodd, N de 4000
H0BRDHBEROBD DB A T 6000 Td), BeBS

DB IR éfaaiai)ei’)m e, de 69900 e3923.
330023 w—aoabc( B0RHBAO

4) A B and C enter a partnership. A invest 3
times as much as B invests and B invest two
third of what C invest at the end of the year the
profit is Rs 6,600. What is the share of B?

a) 1800 b) 1200 c) 1400
d) 1600
QD DR A DNWOBADRY, FTedDB. 20w
BRA3WMY B @e@3N03 3 Iy, Td), DR B
Swerod B30 C @eB30h SedSe QTBEOR),
BRBZ DIBO0T 3R) 6,600 Te. & Do

R7?
OR)?

e) None of these

5) Four milkmen rented a pasture. A Grazed 24
cows for 3 months, B 10 cows for 5 months, C 35
cows for 4 months and D 21 cows for 3 months.
If A's share of rent is Rs 720. Find the total rent
of the field?

DoY),  TILVMITD  BEWMTED Wl @
eddAT 24 BN 3 Soriwd, D 10 B 5
3oriwd, & 35 BRMWD 4 onww DD 8 21
BN 3 SonW. AR Walriad meen 720 Te
sNG3, e 3 2ed), WeBrTabRY) S0@BBAO?

a) 3250.
d) 3250

b) 3260 c) 7200

e) None of these

6) A B and C rent pasture. A puts 10 oxen for 7
months, B puts 12 oxen for 5 months and C puts
15 oxen for 3 months for grazing. If the rent of
the Pasture is Rs 175.How much must C pay as
his share of rent? Pa
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QD DB A Wl DT, @ 10 OBNYRY,
7 3oriwd, D 12 oFYRY 5 Soriwd SR & 15
YRy 3 3oy DeddIw  HRIT.
BMSOR 239878 de 175 8NZ3, d 33 @O

kNN aa’% T3 3TIeR?

a) 50
d) 60

b) 45 ¢) 55

e) None of these

7 )A invested Rs 76,000 in a business. After few
months B join with him, with a capital of Rs
57,000, at the end of the year the total profit was
divided between them in the ratio 2 : 1 after how
many months did B join?

20 SBHTBY 76,000 Te. B0y SonWny
3033, 3R 57,000 20Bw¥ER00 B val3deodr
Je0Z0BD, FRFT BRTODO 2ED), 9IS =T
SRS 2: 1 0DzeSBY JonBTING o), Son
S033 B J3ed3D?

a) 6-month b) 2 month ¢) 4month

d) 5Smonth  e) None of these

8) A started a software business by investing Rs
50,000. After 6 months B joined with a capital of
Rs 80,000. After 3 years they made a profit of Rs
24,500. What was A's share in the profit?

® 50,000 TComodd BeBBE BT Rwewd
DB’ VBT, TYTONITD. 6 3ori¥

Sod3 D Te 80,000 oBDXPTRODR
3e0BR0BD. 3 IRNY o33 24,500 Te.

em_;id@m D T aa’%?

a) Rs 9423. b) Rs 10,250. ) Rs 12,500

d) Rs 14,000 e) None of these

9) Arun, Kamal and Vijay invested Rs 8000, Rs
4000 and Rs 8000 respectively. in a business.
Arun left after 6 months. If after 8 months, there
was a gain of Rs 4005, then what will be the
share of Kamal?

DT, B DD ABWF BB S@ezeN 8000,
4000 =3 8000 Te. SBHoTTY. S Soriy
S033 E' ®eed. 8 dorid So33 4005
Tezmedh U9l 00T Beees wot) OF)?

a)Rs890.  b)Rs1335. ¢) Rs 1602

d) Rs 1780 e) None of these

10) A B and C enter a partnership. They invest
Rs 40,000, Rs 80,000 and Rs 1, 20,000
respectively. At the end of the first year B
withdraws Rs 40000, while at the end of the
second year, C withdraws Rs 80,000. In what
ratio will the profit be shared at the end of 3
years?

QD DB d TWTOBDRY BFedDIT. TDH
3N 40,000, 80,000 A 1, 20,000 Tpe.
Sty S3Ed BeJobd B 40000 de.nY)

H0BBWWET, 8BT OTBIe IRETD é@aﬁ&b@m, C
Pa
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80,000 dp. 3 SmenY FpIoDY UITY, adred
ODTBTO BOBRYUHBT?

a) 2:3:5 4:5:9

d) 1:2:3

b) 3:4:7 C)
e) None of these

11) A,B,C subscribe Rs 50,000 for a business. A
subscribes Rs 4000 more than B and B Rs 5000
more than C. Out of a total profit of Rs 35,000, A
Receives?

a)Rs 8400 b) Rs 11,900 c) Rs 13,600
d) Rs 14,700 e) None of these

12) Three partners A, B,C start a business. Twice
A’s capital is equal to thrice B’s capital and B’s
capital is four times C’s capital. Out of a profit of
Rs 16,500At the end of the year, B’s share is

D HWWTD A, BC S SBT3,
D9 00DWTT. OT@ Wed A b WOTBDYD)
e 200 B o woBDeWd, JreImeNDH3T
@) B ab 2080wy C ob Deew, Ty, T,
3BT BpJabe 16,500 Te.iy CeId), B ob

APIOY]

a) Rs4000
d) Rs 6600

b) Rs6000  ¢) Rs7500

e) None of these

13) A, B,C enter into a partnership. A invest
some money at the beginning, B invests double
the amount of after 6months and C invest Thrice
the amount after 8 months. if the annual profit
be Rs.27,000,C’s share ?

A, B,C mome080hRY) Bc3edWIT. o 8T0ITO
), BET, BRBB BTV, A 6 doriy J033
DB D, D) A 8 3onY F0ST Swed 200 BeBS
eDB9T. TeAEB er Te.27,000 e8NZT,

D0e?

A)Rs 8625 b)Rs9000 c¢)Rs 10,800
d) Rs 11,250 e) None of these

14) In a business, A and C invested amounts in
the ratio 2:1, whereas the ratio between
amounts invested by A and B was 3:2. If Rs 1,
57,300 was their profit, how much amount did
B receive?

835060, A ) € ried 2:1 a3 Zed3
SRAB, BG0 A DR B 283 383 Se3nv
SIS eDISF) 3:2 8NR. e 1, 57,300 0
oITONGT, D oR) BRBT) SETD?

a)Rs 24,200 b)Rs 36,300 c) Rs 48,400
d) Rs 72,600 e) None of these

Moderate Level

15) A, B and C enter into a partnership and their
shares are in the ratio 1/2:1/3:1/4. After 2
months, A withdraws half of his capital and after
10 months, a profit of Rs 378 is divided among

them. What is B’s share? A, B @& C
DoeNT0BR BFAD3T DR [T FeDNWD

1/2: 1/3: 14 o@S3OD3S3. 2 3or¥
S088, A 3 woBoevd OGS
Pa
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LoBrihERRBS @) 10 Sonv So3T, 378 a)4:3:5  b)5:6:10 ) 6:5:10
3n U@Zjdﬁ& 038 I3 aoﬁéﬁmrﬁ@d. D d) 10:5: 6 e) None of these
RPIOY) cDo_)&c)J?

18)A and B entered partnership with capitals in
A)Rs 129 b) Rs 144 c) Rs 156 the ratio 4: 5. After 3 months, A withdrew % of
d) Rs 168 e) None of these his capital and B withdrew 1/5 of his capital.
The gain at the end of 10 months was Rs 760.A’s
share in this profit is?

16) A, B and C enter into a partnership and their . ‘
shares in the ratio 7/2: 4/3:6/5. After 4 months, Adbeh B4l dniosentloc il

A increases his share by 50%. If the total profit mwmaso;bd& F3eddD. 3 orl¥ J03T, A
t th d of th be Rs 21, 600, then B’
ath tert S et TP 33 wodows Y edy bodrichdeodd @

share in the profit are?
B33 woBme¥d 1/5 o) »o3richdeol.
10 Son¥ BeJabY ned 760 Te. 8 we3BY

AS @ oa’%?

A BRI Cmoenmed3d HA) 30 Sedbriwd 7/2:
43: 6/5 DD FTeBDIS. 4 Sory
8030, A B3 DRy, 50% FBI3. ST

BRSO e, 92l B 21,600 SHGT, eeidd) a)Rs 330 b) Rs 360 c) Rs 380
B od meew? d) Rs 430 e) None of these

a)Rs 2100  b) Rs 2400  ¢) Rs 3600

19) A, B and C jointly thought of engagin
d)Rs400 &) None of thes ) jointly thoug gaging

themselves in a business venture. It was agreed

17)A, B, C started a business with their that A would invest Rs 6500 for 6 months, B, Rs
investment in the ratio 1: 3: 5. After 4 months, A 8400 for 5 months and C, RS 10,000 for 3
invested the same amount as before & B as well mopths. A want to _be working meml_)er for
as C withdrew half of their investment. The ratio which he was to receive 5% of the profits. The
of their profits at the end of the year is? profit earned was Rs 7400. Calculate the share

of B in the profit?

Q, D DA  BotdaeN DYHeT  YVTET
B, BRBNABRYLN 030e3TD. o 6 Sonert
6500, &, 5 Son®eri 8400 D) , 3 Soniert
10,000 Te. w2 BOT DI ITDeried
WODDBIN  WTBN OTD 0IB 5% O

2,0, 1:3: 5 0dze33) 3, Bed3ateodt
SSDTBRY, HYToNITD. 4 Sorty Fo3T, o
SeBOR ode eSS, BB BBD & O
Tortode  d 3R, BeB3W TR
H03BRDER0BD. IR B0 ©TT I3
DT3B dw),?
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BB0LIeSIND). NLIB 5923 Te 7400. 59336 B 22)Siddhartha opened a Dhaba by investing Rs
= AQD? K 2,700. After some time Prahlad joined him by
ab 2ot S0thEHBAD? investing Rs 2025. At the end of one year,

the profit was divided in the ratio 2: 1. After how
many months did Prahlad join the business?

(%Ogc;j? 2,700 TRT) DRBS B T
333TD. T, IDDT o83 2025 dra.ri%}aig(
BPAZ DRI OB Gl play @ddd&

a)Rs 1900  b) Rs 2660 ¢) Rs 2800

d) Rs 2840 e) None of these

20) X and Y invested in a business. They earned

some profit which they divided in the ratio 8 : 9. Je0BR0TBD. 2,00 SRS BIFAY, 3T, 2:
;f X invested Rs 120000, find the amount 1 8aB3Ee JorBenAn. oS Sohin =t
invested by y . 2 9

Gfespiay dédmdéé 3e0qD?
OB DAY dé d dmdd@ DROS dm&md L9 °
8: 9 ORDTOBHE WONAT ), DR, NEIBD. a) 3 b) 6 c)8
X dep 120000 ®eB3 S7833, y JoB BeB3 d) 4 e) None of these

83 SRTSY, BORHBAO.

23) Sameer started a business investing Rs
D)Rs 1350GEEIRS 127000 ™ c)Rs 135740 90000. After 3 months, Vimal joined him by
d) Rs 150000 e) None of these investing Rs 96000, then the difference between

Sameer and Vimal share is?
21)Three hikers X, Y, Z start on a trip with Rs 50

each and agree to share the expenses equally. If JBeo® de 90000 BRES DS B BHICT)

at the end of the trip, X has left with Rs. 20 with _ 3
him Y with Rs 30 and Z with Rs 40, how must SyCogKitl: 3 Senly asgl Slo™ d 96000

they settle their accounts? BARS DT OB @Eﬁdd& Te0BR0BD),

Swd TBwedBED X, Y, Z Bwe 50 S03T BDeT* DA IR SBIR dasa?a@aiem?

TRmodiHe ol BDeIBY, @ BoDDITT

DR BB Sronmen BoeIBRYL )BT, a) Rs 96000 b) Rs 7384.62 c) Rs 7462.
ry EX] S —o

AP éraaﬁojgef)m, OF Tp. 03300 20 Be 30
DR Z Fp007% de 40, 93D 3D, mémﬁ;ﬂ
Dert DR ODIIe:?

d) Rs 6538.48¢) None of these

24) if out of profit of Rs 250, X gets Rs 20 more
a)Rs 30 b) Rs 60 c) Rs 80 than Y and Y gets Rs 10 more than Z, then X's

hare is ?
d) Rs 40 e) None of these S
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250 O 0o3B), X1 Y Nod de 20 D) Y Z No3 1. 092338 A3 woew Te. 8750.
T 10 B3T3, X S T daw),?
a)Rs 100 b) Rs 60 c) Rs 80 27) Rahul, Anurag and Vivek started a business

together. In what proportion would the annual
¢)Bs =l S e profit be distributed among them?

[. Rahul got one-fourth of the profit.

25) X, Y, Z are partners in a business. X invest [1. Rahul and Vivek contributed 75% of the total

Rs. 1000 for 5 months. Y Rs. 1250 for 2 months

and z Rs. 1500 for 5 months. The profit should IZESEElt

be divided among them in the ratio DomeF, WRDTITF DR IS et mesmd
K.Y Z dasdao—add@m TILNTITD). OF° BRBS . B8T0DITD. OBTY  Toded oIS,  abvedd
5 donert 1000. &, Te. 2 donert 1250 D) z By6TY IBOIBNHST?

de. 5 Soriwrt 1500 de. ©aR) 3T SAT

.00 933 moéaie 2003 N DBTA.
@mméde‘g QoNBTLTeRD

II. comef D) JSes® E), DRB3AD 75%

a) 5:3:2 b) 10:12.5:15 c) &l:3
BRI JeBwd
d) 3:2:1 e) None of these
28) How much did Rohit get as profit at the

year-end in the business done by Nitin, Rohit

Advance Level and Kunal?

[. Kunal invested Rs. 8000 for nine months, his
profit was 3/2 times that of Rohit's and his
investment was four times that of Nitin.

26) Ravi, Gagan and Nitin are running a business
firm in partnership. What is Gagan's share in the
profit earned by them?

II. Nitin and Rohit invested for one year in the

[. Ravi, Gagan and Nitin invested the amounts in . .
proportion 1 : 2 respectively.

theratioof2:4:7.
[II. The three together got Rs. 1000 as profit at
the year end.

BT, Bpedd DR DS 083 dédmddef)m
Qeeds® dmfoéédom nYAT mzﬁaﬁa’% ?

II. Nitin's share in the profit is Rs. 8750.

3, MR DB A @owwedZHY @ a3
SoFab, IBD3WRT. D NPT UeIBY

NN® St axm)?
0.3 Tp. w0R) 3ot 8000, TSI el

GredEs 3/2 T, D) 0TI BB SIS

RDQ).)!5 c.)fd‘)_‘

L B, AN DR A8 ezddh 2 :4:7 O

ODTBTY SPST), BRBZ IjBTD.
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I1. 8% D) Tedd ghomeN 1: 2 DTe3TY RTD J &3, P, Q DB R oD 3 Sweny
20T TRE BREB TIBTD. 3O ZhaeN 5: 4 : 2 T ODTBTO BT,
TPEZ DT DowDed3 I BHITIIY
@9 B0ITD. & B Fed veIeN BET B3

D ?
ALOX

[1I. Qw3 JTed . dmgoézsdeg 1000 e5923.

29) Whatis R's share of profitin a joint venture?

L 38H9008) BeB3 SB3 e, B3 Tn.
22,000.

. _ ! II. 3 JIRENY BRI MLPAT IR eV
P joined after 4 months with a capital of Rs. © &
1,20,000 and got Rs. 6000 as his share profit. @eB3ad 3/8 sNd.

Q started business investing Rs. 80,000.

R joined him after 3 months.

%08 QUGEEY RS 03)d @maen am)? 1L B3, OB 0930 FoIRO S T, 2750

Q 8,3%e08) Ge. 80,000.
e80° 3 BonY S0BT BITRY, FeOBROTD.

d 4 8onY STo3C Te  WOBDIYBRODM
JedBp0oBD. 1,20,000 B TdR. ¥IT DO
7923w 6000 Tse.

30) Three friends, P, Q and R started a
partnership business investing money in the
ratio of 5 : 4 : 2 respectively for a period of 3
years. What is the amount received by P as his
share profit?

I. Total amount invested in the business in Rs.
22,000.

[I. Profit earned at the end of 3 years is 3/8 of
the total investment.

[II. The average amount of profit earned per
year is Rs. 2750
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